Probability from Independent Events

(a) Arthur tosses a fair coin three times. Find the probability that the coin lands on tails exactly once.
(b) Iris and Usma play three games of tennis. The probability that Iris wins a game of tennis is . Find the probability that Usma wins at least one game of tennis.

(a) Erik throws a biased coin twice. The probability of the coin landing on tails twice is . Find the probability that the coin lands on heads twice.
(b) A spinner has two unequal sections coloured black and white. When the spinner is spun three times, the probability that it lands on black three times is  Find the probability that when the spinner is spun three times, it lands on white exactly twice.

(a) There are 20 counters in a bag – some are red and the rest are blue. A counter is chosen at random from the bag, it is replaced and then a second counter is chosen. The probability that two red counters are chosen is . Find the number of red counters, the number of blue counters and the probability of choosing one counter of each colour.
(b) Peta and Paul play one game of tennis and one game of pool against each other. The probability that Peta wins the game of pool is . The probability that Paul wins both games is . Find the probability that they win exactly one game each.

A spinner has three unequal sections – white, grey and black. The grey section is twice the size of the black section. When the spinner is spun four times, the probability of it landing on white four times in a row is . Find the probability of the spinner landing on grey four times in a row.
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